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1. ROMICEZ K. (SHA0, A1 158, BR17 408, CH25 308 )

(1) 43# 120m T 2053 17 &l m e D, (2)  96km ZRH 12 km TIT & AR50 2 2.

(3)  120m % 208 TI7 & @#X I Ml m 2. (4) 10km % 2303# 100m TITL & A7 22525 D>,
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2. RXOMICEZ K. (SHA0R, A1 158, BFR1740%, CHK27 308 )

(1) ®HESm T30 17 2 mETeH. (2)  1500m Z573E 250 m T A D3D 3 7>,

(3)  60km % 4K TIT < X EIEHEMA km 2. (1) 1.2km ZF3E 5m TIT L 2 Af 022 3 5.
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1. ROMCEZ K. (S48, A157 158, BH1740%, C#24530%) )

*EE = FLTDR

() IFHAOAEE. (7 x § = )
& T | K~ km (~km/h) | 7E~m (~m/77) | B#E~m (~m/s)
(DS ~ IRffE] (~h) ~ 7 ~H (~s)
- FHAE ~km ~m ~m

YR S ORE T, BAISTER.

(2)

*EE = [FLTOR

96 km % Ri# 12 km TIT & & AAIRERE 222 % 70,

(1) 73 120m T 2057 17< &fa] miEded.
* RS = [FLFTDR
1 - X || 120m /%)
U - R 20 47
= - PR 7 m
* BEEft = S x  BRS
7 = 120m/77 x 2097
= 2400m

(3)

*EE = FLTOR

X HE || 7 my/s
U - IR || 20s
&« BREE | 120m
* RS iz 5 S S
7 = 120m -+ 20s
= 6m/s

120m % 20 ¥ T17 < & 3 X I3 m 2o,

(4)

& - X || 12km/h
U - R 7 h
& - HAE | 96km
* Bl = EERE + ET
7 = 96km -+ 12km/h
8h

10km Z773%# 100 m TIT L 2570202 % 7.

*EE = [FLEFToR

[ RIBT H 100m /453
U - B 7 h
= - PEEE || 10km = 10 x 1000 = 10000 m
* BfE = EEEE =+ RS

7 = 10000m -+ 100m/%}
100 9
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2. ROMICEZX. (SHKA0F, Ak17715%, B#K17740%, CHk2730% )

*EE = FLETDOR () NZBEALOEIE. (7F x § =#t)

e || FEE~km (~km/h) | D& ~m (~m/77) | HE~m (~m/s)
r - RfE ~ [ff#] (~h) ~ 7 ~F (~s)
& - B ~km ~m ~m

YR S ORE T, BAIER.

(1)  ®HESMm T30 17 2 mitEdeDe. (2)  1500m %433 250 m TIT L &30 % 7».
*RE = [FLTFDF *RE = [FLFTDX
& - || 8m/s e HWE | 250m/ 77
U - FREE | 30 %D C - BFE 7o
= - fEE | 7 m = - PAEE || 1500m
* IRt = &EET x BE * Bffl = RBEEE -+ 0 RS
7 = 8m/s x 30s 7 = 1500m -+ 250m/%3
= 240m = 649

(3)  60km % 4 W5 TIT < X FIRHHEMA km 2. (1) 1.2km ZF3E 5m TIT L AR 2222 3 5.

*ES = [FLFTDR *EE = [FLFTDOR
(& - X || 7 km/h o R Sm/s
U - R 4h U - 7S
= - Rt || 60km = - JHEAE | 1.2km = 1.2 x 1000 = 1200 m
*x RS =  EEEE <+ B5RE * Bl = BEEE -+ RS
7 = 60km =+ 4h 7 = 1200m -+ 5m/s

= 15km/h = 240s
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